Suction feet 10600-10630

Suction foot 10600, 10610,10620,
No 10630
Yoke 400/600/1200/1800 mm
Bracket

Sect

R R D D R B B B B - R L N R N AT

OV NN s W N~ O

uring band

Rubber grommet
Metal plate
Washer M8 D34
Locking pin
Rubber gasket 310X110mm, black
Screw M5X35

Nut M5 locking
Clamp 19 - 28 mm
Screw M8X14 insex
Rubber gasket
Metal ring

Screw M6X25
Pre-assembly plate
Nut M6M

Screw M8X120
Rubber pad with nut - @ 35mm
20 | Nut M8
21 |Airtube PUR & 25mm

A= = = NINN = = 000 NNNNEIN S SN — Amount

Art 10600 Art 10610

10664
10694
30660
10606
10852
10601

*

*

10668
10694
30660
10606
10852
10601

*

Art 10620
10672
10694
30660
10606
10852
10601

*

*

Art 10630
10678
10694
30660
10606
10852
10601

*

*

10146

PUR25

260 - 400 mm
10.2"- 16.7"

10600

1100~

43




